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BASIC LAW - CONSTITUTION AND GENERAL KNOWLEDGE - BASIC LAW - CONSTITUTION AND GENERAL KNOWLEDGE

Question No.1 Marks: 2.5
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The National Board for Wild Life (NBWL) was constituted by the Central Government under Section of the Wildlife
(Protection) Act, 1972.

TER Fgoia a1 (NBWL) 3T 7T che TRER gRT a-geiia (TReon) Sifdfgs, 1972/ aRT & dgd fohar T ol
(A) O Section 13
€T 13
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URT2 A

(C) O Section 10
4T 10

(D) O Section 5 A (Correct Answer) (Chosen option)
YRTS5 A
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The salaries and allowances of the judges of the Supreme Court is determined by:
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(A) O The Chief Justice of Supreme Court
IeTdH AT & IR et

(B) O The President of India
IR &

(C) O The Parliament (Correct Answer) (Chosen option)
e

(D) O The Finance Commission

o s

Question No.3 Marks: 2.5
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Uttar Pradesh Technical University (UPTU)' has been officially renamed as in 2015.
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(A) O Jawaharlal Nehru Technical University
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(C) O Indira Gandhi Technical University
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(D) O Dr. A.PJ. Abdul Kalam Technical University (Correct Answer) (Chosen option)
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Question No.4 Marks: 2.5
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Which of the following Articles of the Indian Constitution directs the state "To separate the judiciary from executive in public
services"?
IR e a1 FAafafed § @ &9 a1 srgee U ot "ardsiAe darsit § erfutferesr & =irruforent i 3rerT sen & forg” fAder &ar &2
(A) O Article 50 (Correct Answer) (Chosen option)
31755 50
(B) O Article 56
3TF% 56
(C) O Article 54
Glﬂﬁ'b‘d 54
(D) O Article 52
3ges 52
Question No.5 Marks: 2.5
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Green Strategic Partnership was launched by Indiaandthe ______ for delivering sustainable solutions to India.
UIERIAT YR ol IR GHTT Ue™ e & [T IR 8k ZRT [E &1 T8 oAt
(A) O Us
7.
(B) O Russia
&g
(€) O UK
g
(D) O Kingdom of Denmark (Correct Answer) (Chosen option)
Th
Question No.6 Marks: 2.5
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That the right against forced labour includes the right to a minimum wage was upheld by the Supreme Court in
mn@%ﬁwaﬁwﬁwﬂmmmam%mwmgﬁ o T8 sgrr T Al
(A) ©O Workmen v. Binny Ltd.
MR T fort ffafes
(B) O People's Union for Democratic Rights v. Union of India (Correct Answer) (Chosen option)
Hues gfae kiR 3Hthieeh IECH I HRA €Y
(C) O M.C. Mehta v. State of Tamil Nadu
.9t AgdT T dffeTg T
(D) O R.K. Pandav. Steel Authority of India
3R 3. UTST S et AR 3ifes e
Question No.7 Marks: 2.5
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In India, the effective literacy rate is calculated for people of or above years of age.
IR H, U7t G1&RdT &2 &l 7M1, T a1 ITY Y TG ATt AN o forg Bt &1
(A) O 6 (Chosen option)
6
B) O 1
1
(C) O 7 (Correct Answer)
7
(D) O 5
5
Question No.8 Marks: 2.5
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Which of the following diseases is also known as African Trypanosomiasis?
fafafea o @ fore 1 a0t srhient iedTaforaTRe & 9 @ oft S1 SI7em 82
(A) O Sleeping Sickness (Correct Answer)
Freregar-am
(B) O Porphyria
IR
(C) O Diabetes mellitus (Chosen option)
AYHE
(D) O Stroke
KIBIG)
Question No.9 Marks: 2.5
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An unauthorised access to a computer is a crime of
foreht off Sheger Ten sHfdgd UgT, I STORTY B
(A) O Data encryption

Crally ey
(B) O Firewall

TRRArd

(C) O Patch
9 (Patch)

(D) O Hacking (Correct Answer) (Chosen option)

Question No.10 Marks: 2.5
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When did the state Uttar Pradesh get its statehood?
ITR T2 el Y T ST ehel UTLT G3T?

(A) O 1950 (Correct Answer) (Chosen option)
1950

() O 1948
1948

(©) O 1975
1975

(D) O 1947
1947

Question No.11 Marks: 2.5
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"Per Drop, More Crop" is a component of which scheme?
"ufd gg, Sifde tae” (TR g1U, AR i) R TS o Uk b 8?2
(A) O Pradhan Mantri Kisan Sampada Yojana
T wft fohe duer gisrr
(B) O Pradhan Mantri Fasal Bima Yojana
T e ST aerT

(C) O Paramparagat Krishi Vikas Yojana
IR Ry faerT i

(D) O Pradhan Mantri Krishi Sinchayee Yojana (Correct Answer) (Chosen option)
uerHET HfY R gieren

Question No.12 Marks: 2.5

Bookmark
The Right to Fair Compensation and Transparency in Land Acquisition, Rehabilitation and Resettlement Act was enacted in the year

@W,Wﬁzma@ﬁwﬁaﬁagweﬁ?mﬁﬁammﬂﬁ—ﬂamﬁﬂﬁa%mww

(A) O 2016
2016

() O 2014
2014

(C) O 2013 (Correct Answer) (Chosen option)
2013

(D) O 2015
2015

Question No.13 Marks: 2.5
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Which of the following is a herbivorous marine mammal?
fafafed & @ o= a1 U TRt Tg ARl 82

(A) O Whale
El
(B) O Sea cow (Correct Answer) (Chosen option)

(C) O Sea Lion
STAfig

(D) O Walrus
IRy

Question No.14 Marks: 2.5
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Which Constitutional Amendment Act added 'the right to form cooperative society’ to Part Iil of the Indian Constitution?
forg Gdenfaes Genteq sifafagm 3 ardlg I & v 11 § 'gger) afafa 9= &1 sifder’ e
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(A) O 97th Constitutional Amendment (Correct Answer) (Chosen option)
9741 Waunfaes Hene=
(B) O 76th Constitutional Amendment
76at Gdufes date
(C) O 32nd Constitutional Amendment
32ai GaenfAe gL
(D) O 100th Constitutional Amendment
100at aenfes deiterd

Question No.15 Marks: 2.5
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How many subjects were originally present in the Concurrent list of Indian Constitution?
TR AfGem Sl THad! et § 9o w0 & fha fawa nfae 92

(A) O 47 (Correct Answer)
47

(B) O 100
100

(C) O 50 (Chosen option)
50

D) O 25
25

Question No.16 Marks: 2.5
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Which of the following Articles of the Indian Constitution deals with Attorney General of India?

AR Ffdem a1 Fafafad # & & 91 srgese R & Agarad § Hafid 82

(A) O Article 165
3 165

(B) O Article 148
I 148

(C) O Article 76 (Correct Answer) (Chosen option)
31TD% 76

(D) O Article 54
3geee 54

Question No.17 Marks: 2.5
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In which year did the Indian National Congress split due to differences between extremists and moderates?
ifdrat ofik TRAfT & st Aael & SRUT YR AL AU i e e af garm ar?

(A) O 1922
1922

(B) O 1927
1927

(C) O 1907 (Correct Answer) (Chosen option)
1907

(D) O 1916
1916

Question No.18 Marks: 2.5
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Presently which company owns Messenger?
A F FHR FI ATfereh i I o 8?7
(A) O Twitter

<!

(B) O Linkedin
IE=ES]
(C) O Facebook (Correct Answer) (Chosen option)

(D) O Snapchat
Hude

Question No.19 Marks: 2.5
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The "Universal Declaration of Human Rights" was adopted by the UN General Assembly in the year
"ATE ifARRT ht Arefifien SuoTT eht Th TE AT gRT ay B STy T o
(A) O 1948 (Correct Answer) (Chosen option)
1948

(B) O 1946
1946
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() O 1945
1945
(D) O 1966
1966

Question No.20 Marks: 2.5

Bookmark
Criminal misconduct by a public servant is dealt under Section of the Prevention of Corruption Act, 1988.
Tch cilch Yaeh gRT fhU 71T SR theTaR ol YEMR ARigh SfdfRad, 1988 M eRT_____ & dgd Ruear siar gl
(A) O Section4
R 4

(B) O Section 13 (Correct Answer)
YRT 13

(C) O Section 7 (Chosen option)
URT 7

(D) O Section 2
YRT 2

Question No.21 Marks: 2.5
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India grants the funds for Greater Male Connectivity Project(GMCP) to which country?
IR A Te= AT Pl viotae (Sh.g.d dt.) & forg fohg 2er ot A vt i 82
(A) O SriLanka

sfietent
(B) O Madagascar

ERIUITG
(C) O Maldives (Correct Answer) (Chosen option)

AT

(D) O Nepal
ELIGH

Question No.22 Marks: 2.5
Bookmark
The Indian statute that provides for preventive detention of a person with a view to preventing him from acting in any manner
prejudicial to the defence of India, the relations of India with foreign powers, or the security of India and for matters connected
therewith is .
, I8 MR & &, ST foeft zafeh et et <ht 2, feft rferat & arer wRa & eiell, ar WRa i GRam 3k 94 S Al & forg fomedt
+ff T8 9 ufpd Ff A T Ak i g8 F Fares FARYe &1 vraem eear g1
(A) O The Information Technology Act, 2000
e dieitfiehl arfafas, 2000

(B) O The National Security Act, 1980 (Correct Answer) (Chosen option)
I gram sifdfeam, 1980

(C) O The Criminal Procedure Code 1973
&3 ufohar dfgar 1973

(D) O The Indial Penal Code, 1860
IR &8 dfegar, 1860

Question No.23 Marks: 2.5

Bookmark
Which eminent jurist and constitutional expert described the Preamble of the Indian Constitution as the 'identity card of the
Constitution'?
fora wReaTa =mafae ok Ofgem RIvs 3 IR Giem 6 uxdraar ot ‘93 o ugaE o' gdrn?
(A) O Sir Ernest Barker
T ST qTee

(B) O K.M. Munshi
&.qH. Haft

(C) O Dr.B.R. Ambedkar
=T, 1. 3R, s

(D) O N.A. Palkhivala (Correct Answer) (Chosen option)
Q. Q.

Question No.24 Marks: 2.5

Bookmark
The Commission of Sati (Prevention) Act came into force in the year
it ot (awon) sifefamm, av A @mpgsm

(A) O 1988 (Correct Answer)
1988

(B) O 2005
2005
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(©) O 2013
2013

(D) O 1980 (Chosen option)
1980

Question No.25 Marks: 2.5

Bookmark
Which is the only industry in the country that is self-reliant and complete in the value chain (raw materials to products) ?
327 7 QAT I i &1 & St 38 e (e A1l § TG dch) | SR 3R quf 82
(A) O Iron and Steel Industry
<iigT 3R geuTd SET

(B) O Paper Industry
TS ITNT

(C) O Textile Industry (Correct Answer) (Chosen option)
& I

(D) O Shipbuilding Industry
STgTs fAmfor e

Question No.26 Marks: 2.5

Bookmark
The Real Estate (Regulation and Development) Act (RERA) was passed in the year )
et TRe (meR gare) (f_fams ok faem) sifaffam (RERA), a9 7 urRa fomam mar am
(A) O 2000
2000

() O 2012
2012

(C) O 2016 (Correct Answer) (Chosen option)
2016

(D) O 2018
2018

Question No.27 Marks: 2.5

Bookmark
Which Revolution was associated with the 'Operation Flood' launched in Jan 19707
Sast 1970 H [ AT 7Y 'SR Tre’ & 19 O shifd Tafag oft?

(A) O Green Revolution
g whifd
(B) O Brown Revolution
hifd
(C) O Golden Revolution
ot sifd

(D) O White Revolution (Correct Answer) (Chosen option)
4 shifel

Question No.28 Marks: 2.5

Bookmark
Who captivated the Gudem rebels of Andhra Pradesh claiming that he had special powers and could survive bullet shots too?

378 T3 o T[S e ol fhae 98 ara e gg &t S ok Sk ure Ry ifwa € 8iR 3 siges Y miferat § ot 9/ v 87
(A) O Kalluri Chandramouli
dgHtet

(B) O Sarojini Naidu
Wi g
(C) O Alluri Sitaram Raju (Correct Answer) (Chosen option)
R I,
(D) O Gottipati Brahmaiah
Tifeufa sdan

Question No.29 Marks: 2.5

Bookmark
Which schedule was added to the Indian Constitution by the 73rd constitutional amendment?

733 Taenfie Gied gRT YR Sfe & o o st gt g o2
(A) O 3rd Schedule
GiEsK|

(B) O 7th Schedule
gradt

(C) O 5th Schedule
o

(D) O 11th Schedule (Correct Answer) (Chosen option)



Addai2y47 Eooale Play

aRedt g

Question No.30 Marks: 2.5

Bookmark
Which of the following committees is constituted for FDI reforms and Rationalisation of its definitions?

. 31312, GUR 3R 3Tkl uRemwnatt & gfthanur & forg FforfEa 7 @ @i o afafa a1 mea forar mar 82

(A) ©O Mayaram Committee (Correct Answer)
AR

(B) O Gadgil Committee (Chosen option)
mefie afafa

(C) O Bimal Jalan committee
et St wfafa

(D) O Ashok Dalai Committee
32Men gelts affa

Question No.31 Marks: 2.5

Bookmark

Which commission makes recommendations regarding the adjustment of boundaries of Parliamentary and Assembly
constituencies? ] ] !
T iR e &5t &t dareii & A & dee § -1 SRR SIRIET hedr 87
(A) O Central Information Commission

FHERT AT SINT
(B) O Union Public Service Commission

Y Steh T SN
(C) O Delimitation Commission of India (Correct Answer) (Chosen option)

HRd <hl

(D) O Survey of India
o

Question No.32 Marks: 2.5

Bookmark
Driving as an offence involves driving on any publicwayina_____ manner so as to endanger human life.
IIdSTiAeh Tt TR STSTET AT STORTY & &9 H A § St 7 Sfiae &l @aR § 1 a1 8

(A) O Negligent only
hael FATIRATE!

(B) O Rash as well as negligent
sfemgfer (Rash) AT gt A1 ATRaTe!

(C) O Rashonly
Fae stemyfe (Rash)

(D) O Rash or negligent (Correct Answer) (Chosen option)
siemejer (Rash) aT ATARETE

Question No.33 Marks: 2.5

Bookmark
Under the breath analyser test, if a person is found to consume alcohol, to a limit exceeding______, then he/ she shall be
punished by the Motor Vehicles Act, 1988.
T fascdvep wdeor h dgd, Al s aafeh & 31fien ot TAT Ik IRTS T Y ohdT UTAT ST &, |t 39 Hiex a1g sifafaum, 1988
SR &f2d foram smam)
(A) O 30 mg. per 100 ml. of blood (Correct Answer) (Chosen option)
30 mg. ufa 100 ml. =&

(B) © 50 mg. per 200 ml. of blood
50 mg. ufd 200 ml.

(C) © 50 mg. per 100 ml. of blood
50 mg. fd 100 ml.

(D) O 30 mg. per 200 ml. of blood
30 mg. ufd 200 ml. =F

Question No.34 Marks: 2.5

Bookmark
Who is known as the "father of local self-government" in India?

IRA § "R @Y & Seh" & U § fohd ST Srem 82
(A) O Lord Dalhousie
TS SISl

(B) O Lord Canning
S A

(C) O Lord Ripon (Correct Answer) (Chosen option)
s Ro=r
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(D) O Lord Mayo
s At

Question No.35 Marks: 2.5

Bookmark
Which of the following is an example of search engine?
fFrafofed & & o a1 @it §59 (I E9T) T Teh IaT6e0T 62

(A) O Mozilla Firefox (Chosen option)
R
(B) O Google (Correct Answer)
byl
(C) O Internet Explorer
Fee TR
(D) O Opera Mini
SRy At

Question No.36 Marks: 2.5

Bookmark

"PIL" in Indian context is .
ARA Hef & "femsga" (PIL) Bl
(A) O provided in the Constitution (Chosen option)

Sfrem # ver forar ma
(B) O not common

3 gt
(C) O ajudicially construed phenomenon (Correct Answer)

1fleh wU & =k aw

(D) O in the developing stage
farasiter srawn &

Question No.37 Marks: 2.5

Bookmark
According to the 10th schedule, any question regarding disqualification arising out of defection is to be decided by:
10 ST & SR, Toacd & IUF i aTelt sraladT & IR & &g oft us mfafea grr 9o foran s 8
(A) O Chief Justice of India
IR o e et

(B) O Presiding officer of the house (Correct Answer) (Chosen option)
e & disri=

(C) O Leader of the house
T & AT

(D) O Leader of opposition
fauer & ar

Question No.38 Marks: 2.5

Bookmark
Which organ of the alimentary canal absorbs water and some salts from the undigested food?
SR il T ehi T ST SUTRIT o & U 3R $© a0l et Sraenfod & 87?

(A) O Kidneys
qh

(B) O Pancreas
SR

(C) O Liver
CIEF-[

(D) O Large intestine (Correct Answer) (Chosen option)
gL 3

Question No.39 Marks: 2.5

Bookmark

How many members are nominated to the Rajya Sabha by the President?
Tyufd gRT TgT § foha Tew I foRg ST 82
A) O 22

22
(B) O 16

16
(c)O 18

18

(D) O 12 (Correct Answer) (Chosen option)
12
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Question No.40 Marks: 2.5

Bookmark
Which of the following Articles of the Indian Constitution deals with 'Contingency Fund of India'?

WRATY Hiaem @1 fr=fafad & @ oF 91 rgeae "R & STehfSTendr i & deifad 82
(A) O Article 267 (Correct Answer) (Chosen option)
ST 267

(B) O Article 256
3T 256

(C) O Article 269
IE 269

(D) O Article 366
I 366

NUMERICAL AND MENTAL ABILITY TEST - NUMERICAL AND MENTAL ABILITY TEST

Question No.1 Marks: 2.5
Bookmark
Find the units digit in 676 x 376 x 437 x 913 x 423 x 337 x 421.
676 x 376 x 437 x 913 x 423 x 337 x 421 & IOkl T TS 3ich T PG
A) O 12
12
B) O 8
8
(C) O 6 (Correct Answer) (Chosen option)
6
0 O 10
10

Question No.2 Marks: 2.5

Bookmark
Three partners A, B and C invest a total sum of Rs.30000. At the end of the year A gets 20400 rupees, B gets 25500 rupees and C
gets 30600 rupees as profit. How much amount is invested by A and C together. (In Rs.)
o9 91g1ER A, B 3R C $f Rs.30000 &t &=RITY T e ahd §1 I o oid & @19 & ¥4 H A &t Rs.20400, B &t Rs.25500 3R C &l Rs.30600
T g &1 A 3R C gRT Yaha fohait 1fRY @t faer fomam mam ami (Rs. #)

(A) O 23000
23000

(8) O 21000
21000

(C) O 20000 (Correct Answer) (Chosen option)
20000

(D) O 22000
22000

Question No.3 Marks: 2.5

Bookmark

Which of the following sets of signs should be used to replace * in the following?
34%6*2=5%5%2]
fafafad & * ot ufownfia s & forg, Ffefea & & Rgt & e e a1 Iuah s s arfeg?
34*6*2=5*5%*21
A)O +x=-

+x -
B) O x-++

X -+ +
(C) O +xx+ (Correct Answer)

+ XX+
(D) O =-x-(Chosen option)

Fox-

Question No.4 Marks: 2.5

Bookmark

The average weight of P, Q and R is 53 kg. If the average weight of P and Q is 47 kg and that of Q and R is 48 kg, what is the weight
of Q? (In kg)
P, Q 3fR R T 3ff97d awi9 53 kg &1 afe P 3R Q o1 3fi7a awi9 47 kg & a2 Q SR R a1 itd aoi 48 kg &, at Q &1 g & 82 (kg #)
A O 29

29
(B) O 25

25
(Cc) O 27

27
(D) O 31 (Correct Answer) (Chosen option)

31
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Question No.5 Marks: 2.5
Bookmark

Find the next term in given series.
ABDOMINOHYSTERECTOMY, OMINOHYSTERECT, BDOMINOHYSTERECTOM, MINOHYSTEREC, DOMINOHYSTERECTO, ?
& 7S siRawT # ST U A1 SIfSIg |
ABDOMINOHYSTERECTOMY, OMINOHYSTERECT, BDOMINOHYSTERECTOM, MINOHYSTEREC, DOMINOHYSTERECTO, ?
(A) O INOHYSTERE (Correct Answer) (Chosen option)

INOHYSTERE
(B) O OHYSTERE

OHYSTERE

(C) O HYSTE
HYSTE

(D) O INOHYSTE
INOHYSTE

Question No.6 Marks: 2.5

Bookmark
A train started from station A and proceeded towards station B at a speed of 212 kmph. 45 minutes later, another train started from
station B and proceeded towards station A at 20 kmph. If the distance between the two stations is 855 kms, at what distance from
station A will the trains meet? (In km)
Teh ¢ 212 kmph &I Ifd & R2M A 8 @M B & g =ieft| 45 9 a1g, 3@t &7 20kmph & 1fa & RH B & R A & forg =eft afe 3
Tl & & T gl 855 kms &, @t &1 & WA A F et g R A ii? (km #)

(A) O 785
785
(8) O 775
775
(C) O 795 (Correct Answer) (Chosen option)
795
(D) O 765
765

Question No.7 Marks: 2.5

Bookmark
Directions:
Using the data from the graph answer the question below:
Find the number of males from sector S.

Number of Employees working in 5 different
sector Ratio of number of male and
female employees

1000 = 950

900 £00 Male Female
800 750
=0 N\ P 5 9
500 Q 8 7
500 R 4 5
400 s 3 5
BTy D
= T 1 8

L
100

P a R 5 >

fram-fA&ar:
3G T 37ThS! T IUTNT hech A1 4T 7T U T IR 2
Jaex S 9 gl i HE A1 Hiforg|

Number of Employees working in 5 different
sector Ratio of number of male and
female employees

1000 o 950
900 800 Male Female
800 70
700 ?DD P 5 9
600 Q 8 7
500 R 4 5
:.EE s 3 5
250 T 11 8
100

) P Q R s T

(A) O 300 (Correct Answer) (Chosen option)
300

(B) O 330
330

(©) O 310
310
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(D) O 320
320
Question No.8 Marks: 2.5
Bookmark
A girl is facing North direction. If she turns 72 degrees in clockwise direction and 63 degrees in the same direction, which direction
will she face now?
ok dTech! IR e & i &1 aft ag 72 sixr afeiomad feem & afik 63 aier It faen & gt &, oY o ag fora fian & i ghft?
(A) O North-West
IR-ufgy
(B) O South-East (Correct Answer) (Chosen option)
(C) O South-West
faror-ufagm
(D) O North-East
IR-gd
Question No.9 Marks: 2.5
Bookmark
A data card when sold for Rs.14950 fetches a profit of 30%. Find the cost price of the data card. (In Rs.)
T4 Uk 32T IS &Y Rs. 14950 H 34T SI1T &, dt 30% T AT UTW §idT &1 3T SIS T 3 o0 A1 it (Rs. H)
(A) O 10500
10500
(B) O 9500
9500
(C) O 11500 (Correct Answer) (Chosen option)
11500
(D) O 12500
12500
Question No.10 Marks: 2.5
Bookmark
Replace the question mark with an option that follows the same logic applied in the first pair.
PEACH : EPAHC :: SMART : ?? !
gsifag ot 39 fdeher & ufawnfia HIFSIg St gum g 8 AN 96 1 SgERvT Hdl &
PEACH : EPAHC :: SMART : ??
(A) O SMATR
SMATR
(B) O MSATR (Correct Answer) (Chosen option)
MSATR
(C) O MSTAR
MSTAR
(D) O MSART
MSART
Question No.11 Marks: 2.5
Bookmark
The question given below consists of a statement, followed by two arguments numbered 1 and 2. You have to decide which of the
arguments is a 'strong' argument and which is a 'weak' argument.
Give answer:
(A) If only argument1 is strong
(B) If only argument 2 is strong
(C) If either 1 or 2 is strong
(D) If neither 1 nor 2 is strong and
(E) If both 1 and 2 are strong.
Statement:
Should girls learn martial arts like karate?
Argument:
1. Yes, it will help them to defend themselves from rogues.
2. No, they will lose their interest in studies.
= Ry g ust ® ues A §, Sk 918 18R 2 T Teifoha €t 9k i3y W &1 siruent ag vt &4 & o el 1 ah Ues ‘e’ b & ofR 9 a1 aeh
et o 21
IR ENT:
(A) afe haat ak 1 e &
(B) afe dhaet ach 2 UeeT &
(C)afkadh 1 arah 2 veeT &
(D) af& 7 Y Ik 1 UeIeT & AT A1 8t dch 2 Uael & 31k
(E) afg 1 3R 2 a1 vee 81
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Y
T Asfhal eht ahere St TRfer oré dat =nfgy?

GEN

1. gF, a8 32 SeHel @ Qg Y &N &R & Hee Sl |
2. 781, & vers & srut 3 @t &t

(A) O A (Correct Answer) (Chosen option)

B) O
) O

() ©

OO mWw OO »

Case Study - 12to 13 5.0
Directions: In the following questions, few statements are given and these statements are followed by two conclusions numbered i and ii. You
have to take the given statements to be true even if they seem to be at variance from commonly known facts. Read the conclusions and then
decide which of the given conclusions logically follows from the given statements, disregarding commonly known facts.

Choose,

(A) Only (i) conclusion follows
(B) Only (ii) conclusion follows
(C) Neither (i) nor (ii) follows
(D) Both (i) and (ii) follow

(E) Either (i) or (i) follows

Question No.12 Marks: 2.5
Bookmark
Statements:
No Bat is ball.

No ball is Balloon.

Conclusions:

i) All Bats are Balloons.

if) Some Balloons are Bats.
LN

IS ool TiE 8l 81
A e, TeaRT TR B

A

) Tl Sreet, TER B

ii) I TER, It &1

A) O A
A

B) O B
B

(C) O cC (Correct Answer) (Chosen option)
Cc

D)O D
D
Question No.13 Marks: 2.5
Bookmark
Statements:

All oaks are banyans.
Some banyans are palms.
All palms are trees.

Conclusions:
i) Some oaks are palms.
if) Some trees are oaks.

Y
ft Sefd, e E
TS TG, AS & |
goft a1g, 3T €1

st
i) $® degd, AT &1
ii) P g1, I &
(&) O A

A
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B) O B
B

(C) O cC (Correct Answer) (Chosen option)
(o

D)O D
D

Question No.14 Marks: 2.5
Bookmark
If the first term is 125 and the common ratio is 2/5, what will be the 4t term of the GP?
I ugelt ug 125 & ok rd srgurd 2/5 8, &t Tui=R sioft (GP) ot e ug o= ghm?
(A) O 8 (Correct Answer) (Chosen option)
8

B) O 12
12
©) O 6
6
D) O 10
10

Question No.15 Marks: 2.5
Bookmark
Two alarm clocks ring their alarms at regular intervals of 60 seconds and 88 seconds. If they first beep together at 6:00 pm, at what
time will they beep together again for the next time? ] ]
gl oo afeal & 60 Ths 3R 88 Vehs & i siaRter IR o aoid €1 3¢ 3 Ugeht IR *MH 6:00 pm TR Teh 1Y 5Tl 8, at 3Telt IR 3 fopg
THY T 1Y Foiif?
(A) O 6:22 PM (Correct Answer) (Chosen option)
6:22 PM
(8) O 522 AM
5:22 AM
(€) O 5:22PM
5:22 PM
(D) O 6:22 AM
6:22 AM

Question No.16 Marks: 2.5
Bookmark
A can do a piece of work in 94 days, B can do in 141 days and C can do same work in 188 days. If on the first day A worked alone
and on the second day B and C worked together and on the third day A and C worked together. If they repeat the cycle, then in how
many days total work can be completed?
A, 94 T & o ol e TenelT , B, 141 et & a8t ovrdf ane what & 8RR C, 188 ot # St e el  FenelT &1 U8 fa A 7 s1ehet sl foka iR
R 371 B 3R C 7 uar a1 s foham ok fieR 71 A 8k C 3 e a1 o fova | af & 59 9oh ol ¥evTd €, at ot foram et & ared g 8t waman
&7
(A) O 75(1/9) (Chosen option)
75(1/9)
B) O 79(1/9)
79(1/9)
(€) O 77(1/9) (Correct Answer)
77(1/9)
D) O 73(1/9)
73(1/9)

Question No.17 Marks: 2.5

Bookmark
If a mirror is placed on the shaded line, then which of the following options is the mirror image of the given figure?
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I Yok YT ot BIifehd [T IR @1 S &, at mfeif@a & @ ot a1 frenew &1 18 simepfay ot gdor nfafaeer 82

1D4S5R f

- A5SADI
ASSADI

daz2har-—--
Acehdl

- R584D1
RS5S4D]1

fAe24DI
fAe24DI

Question No.18

(B) O

(D) O

Marks: 2.5
Bookmark
What will be written in the place of question mark in the given series?
M13J10N14R18?9
QS sigen | uufg & wIF w e o smgm?
M13J10N14R1879
A) O K
K

B)O L
L
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(C) O J (Chosen option)
J

(D) O I (Correct Answer)
|

Question No.19 Marks: 2.5

Bookmark
Select the combination of numbers so that letters arranged accordingly will form a meaningful word.

1.N2.R3.U4.D5.0
TS & I FISH T 79I HIfoIY SIeeh STUR SAafed e IR 3 38R, o A1 2Teg a6 |

1.N2.R3.U4.D5.0
A) O

1,
1,

pN

LS

5

5
B) O , 4 (Correct Answer) (Chosen option)
,4

(L%

K
- )

© O

Www AN
NN NN

aon gao

(0O

BA WW NN W®

R I Q'Y

Question No.20 Marks: 2.5

Bookmark
5/6 of a number is 655, find 9/20 of the same number?
foneft TeaT & 5/6 1 AT 655 §, I T=AT T 9/20 TTd hifoig?

(A) O 3517
351.7

() O 355.7
355.7

(€) O 3497
349.7

(D) O 353.7 (Correct Answer) (Chosen option)
353.7

Question No.21 Marks: 2.5

Bookmark
Find the units digit in (257)4% x (248)73.
(257)45 x (248)73 & gahTS sieh A AT
A) O

B O
© O
(D) O

(Correct Answer) (Chosen option)

O WW ol Db

Case Study - 22 to 23 5.0
Directions: Study the following bar chart and answer the questions given below.
The bar chart represents a Hair colour manufacturing company that produces five different hair colours. The sales of these five hair colours
(in lakh number of packs) during 2015 and 2018 are shown in the bar chart.

45
40
35
w5 2 32

i 25
20 £ 18
15 12

0

i1

0

Burgundy Dark Brown Black Purple Caramel

=

m 2015 = 2018

Question No.22 Marks: 2.5

Bookmark
What is the ratio of the sales of Burgundy colour in 2015 to the sales of Caramel colour in 2018?

2015 7 S3iEt 31 8k 2018 # e I1 6 foshl & ff a1 srgura @m 82




Adda

(A) O

nJ
L

7 GET IT ON
Google Play

®) O
(©) O

(Correct Answer) (Chosen option)

) O

g NN == Www
OO WW NN NN

Question No.23 Marks: 2.5

Bookmark

The sales of Purple hair colour in the year 2018 is what percent more than the sales of Dark brown in the same year?
2018 # St &1 <t farehy, St af & g o & i farehi &t g A fohan wfasrd siferes 82
(A) O 75% (Correct Answer) (Chosen option)

75%
(B) O 80%

80%
(C) O 70%

70%
(D) O 60%

60%

Question No.24 Marks: 2.5
Bookmark
In a competitive examination, 80% candidates passed in section A, 77% in section B while 18% failed in both the sections. If 1425
students passed in both the sections, find the total number of candidates who appeared in the competitive examination.
Teh Hiraifiar oRier |, S A 7 80% rareff Iitof gy, darr B # 77% STafes 1 Garml | 18% ST srgehiof 81 o =t daemi & 1425
B It g, < ufcraifiar wden # SufRd got sraffat & e a1d |
(A) O 1900 (Correct Answer)
1900
(8) O 1700
1700
(c) O 1800
1800

(D) O 2000 (Chosen option)
2000

Question No.25 Marks: 2.5

Bookmark
Directions:
Using the data from the graph answer the question below:
Find the ratio between number of males from the sector R to number of females from the sector T.

Number of Employees working in 5 different

sector Ratio of number of male and

female employees

1000 200 250
900 EDD Male Female
800 T30
- 700 P 5 9
500 Q 8 Z
500 R 4 5
‘:': S 3 5
200 T 11 8
100
h P a R 5 T
fram-fA&ar:

3G T 3fichs! T ITTNT e 1 T Tg usy 1 ST &
Farex R § T i e a1 daex T ¥ Afgersii &l € & 9 srurd 71 hifag|

Number of Employees working in 5 different

sector Ratio of number of male and

female employees

1000 500 230

900 £00 Male Female
800 750

700 P 5 9
700
500 R 4 5
apo
e § 3 5
250 T 11 8
100

P a R s T
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(A) O 1:1 (Correct Answer) (Chosen option)
1:1
(B8) O 23
2:3
(€) O 31
31
(D) O 32
3:2

Question No.26 Marks: 2.5
Bookmark
The Loss incurred by selling an article at Rs.5115 is 65% of the gain attained by selling the same article at Rs.10230. Find the cost
price of the article. (In Rs.)

T a%g il Rs.5115 R ae & g7 areft g1, ¢ a¥g &t Rs.10230 TR 3= § UTW AT &1 65% & | I ol 3 1ed 1 hitorg | (Rs. #)
(A) O 7430
7430
(8) O 7230
7230
(¢) O 7330 (Chosen option)
7330

(D) O 7130 (Correct Answer)
7130

Question No.27 Marks: 2.5
Bookmark
Directions:
Using the data from the graph answer the question below:
Find the total number of males from sector Q and females from sector P together.

Number of Employees working in 5 different
sector

= 950
80D

200 SN 750
700
500
500
400
300
200
100

0

P Q R s T

Rean-fAar:
3G T 3TTchg! T IUANT ehech =i T 7T U T <R 2
ez Q T gRuT JUT ez P & Afgarsi i et Hea A1 hiforg|

Ratio of number of male and
female employees

Male Female
5 9

Cofn|n|~

= |en 0|00
|| o

Number of Employees working in 5 different
sector

a0 8950
BOD
200 S 750 I
0
i I I I
o
B a R 5 T

(A) O 820
820

(B) O 850 (Correct Answer) (Chosen option)
850

(€ O 830
830

(D) O 840
840

Ratio of number of male and
female employees

Male Female
5 9

53
L= [=

wn
o

fo

283
= ||| Do
w4 oo
@t~

w
&

g

=
=]
5

Question No.28 Marks: 2.5

Bookmark
Replace the question mark with an option that follows the same logic applied in the first pair.
warden : senhar :: ?? : ssjhav
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gsifag ot 39 fdeher & ufawnfia RIFSIg St gum g 8 AN 96 1 SIgERv &dl ¢l
warden : senhar :: ?? : ssjhav
(A) O wander

wander

(B) O worsen
worsen

(C) O wonder (Correct Answer) (Chosen option)
wonder

(D) O wondri
wondri

Question No.29 Marks: 2.5

Bookmark
A, B and C can complete a piece of work in 729, 486 and 1458 days respectively. Working together, they will complete the same
work in how many days?
A, B 3R C 2T 729, 486 3R 1458 AT # Uen o Q1 o Weht &1 Gk A1 e el GG, 3 St &l ot bt AT o qr anee?
(A) O 241
241

(B) O 245
245
(©) O 247
247

(D) O 243 (Correct Answer) (Chosen option)
243

Question No.30 Marks: 2.5

Bookmark
The calendar for the year 1993 will be the same for the year:
¥ 1993 &1 Faiey, a9 % heiex & HHE g

(A) O 1998
1998

(B) O 1999 (Correct Answer) (Chosen option)
1999

©) O 1997
1997

(D) O 2002
2002

Question No.31 Marks: 2.5

Bookmark
What is the difference between the compound interests on Rs.6000 for 1 year at 6% per annum compounded yearly and half-yearly?
(InRs.)
Rs. 6000 W a1k 3fR srefarities w0 & TaifSra ufaay 6% 6 3 wr 1 a & forg et aehgfg samsi & e @1 siar 82 (Rs. #)

(A) O 5.4 (Correct Answer)
5.4

(B) O 44
4.4

(C) O 6.4 (Chosen option)
6.4

D) O 74
7.4

Question No.32 Marks: 2.5

Bookmark
A smart TV was purchased for Rs.155000. Its price was marked up by 35%. It was sold at a discount of 20% on the marked price.
What was the profit percent of the smart TV? !
Teh TE &1 Y Rs. 155000 & @IaT 17 o171 59ch Sifchd Jea § 35% i gfg i 721 I8 Sifchd Jea TR 20% ol T TR <=1 77| W1 &t TR a1

ufsrd o ar?
A O

B) O

© O

6
6
2
2
8 (Correct Answer) (Chosen option)
8

D) O 4
4

Question No.33 Marks: 2.5

Bookmark
Three numbers are in the ratio 15:17:19. If the difference between thrice the third number and the sum of first and second number is
625. Find the difference between the first and third number?
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1 TeeAd 15:17:19 & Srura § €1 et deean & fav qom ugelt ofk gt Twe & Al & &t o Sfar 625 &1 Ugett SR et e & offa ar
IR 19 FifSg?
A) O 70
70
(B) O 80
80
) O 90
90

(D) O 100 (Correct Answer) (Chosen option)
100

Question No.34 Marks: 2.5

Bookmark
The 17" and 15t terms of an AP are 315 and 251 respectively. Find the sum upto 24 terms.
Y qHIR Joft (AP) &1 Tofgat 3R ugelt ug shAsn: 315 3R 251 §1 24 UgH e ol Al Thet F1d hifSig|
(A) O 7428
7428

(B) O 7228
7228

) O 7328
7328

(D) O 7128 (Correct Answer) (Chosen option)
7128

Question No.35 Marks: 2.5

Bookmark
Mr.Jonson invested Rs.19,500 divided into two different schemes A and B at simple interest rate of 15% and 12.5% respectively. If
the total amount of the simple interest earned in 2 years is Rs.6125, What was the amount invested in scheme A. (In Rs.)
fAReR ST 7 AT 15% 3R 12.5% i FTLROT 4TS &R TR &l STelT-31eT Jrerrait A 3R B # Rs.19,500 @1 e forami afe 2 awf # sifSfa
IR TST & et AFA Rs.6125 &, dt Aterm A F far i 7€ afy m of? (Rs. )

(A) O 26000
26000

() O 27000
27000

(C) O 25000 (Correct Answer) (Chosen option)
25000

(D) O 24000
24000

Question No.36 Marks: 2.5

Bookmark

A person cycles from hostel to college at a speed of 20 kmph and reaches 16.5 minutes late. If he cycles at a speed of 24 kmph and
reaches early by 16.5 minutes, find the distance between hostel and college.(In km)
Qe fxh gied © dhictel deh 20 kmph & i & Arsfohet Terrar & $ik 16.5 e <& @ ugaar 1 afk ag 24 kmph i 1fd & rsfre aam g sk
16.5 e STedt ugea g, @t givee iR it & o= 6t gt 71a dhiforg | (km #)
(A) O 33

33
(B) O 55

55
(C) O 66 (Correct Answer) (Chosen option)

66
(D) O 44

44

Question No.37 Marks: 2.5
Bookmark
What value should come in the place of question mark (?) in the following question:
(13x13)3+(169x13)3x(28561)% = 137
frafofeaa vy 8 v g (?) & ©IH R &1 94 ST 91fe:
(13x13)3+(169%13)3x(28561)2 = 137
A O 9
9

B) O 7
7

(C) O 5 (Correct Answer) (Chosen option)
5

D) O 3
3

Question No.38 Marks: 2.5
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Bookmark

Find the total surface area of the hemisphere whose radius is 27cm and 1 = 3.14(In cm?).
ek ATt Rl et GEIT &Tthet T R, TRl Bisar 27 cm & 3R = 3.14 &1 (cm? &)
(A) O 6567.18
6567.18
() O 6667.18
6667.18
(C) O 6867.18 (Correct Answer) (Chosen option)
6867.18

(D) O 6767.18
6767.18

Question No.39 Marks: 2.5
Bookmark
In this question, a statement is given followed by two conclusions numbered i and ii. You have to assume everything in the
statement to be true, then consider the two conclusions together and decide which of them logically follows beyond a reasonable
doubt from the information given in the statement.

Statement:
Kanish was happy about the gift he received.

Conclusion:
i) Kanish was happy because he liked the gift or he likes being gifted by someone
ii) It was Kanish's birthday, yesterday.

Choose the appropriate one from the following options
(A) Only conclusion i follows

(B) Only conclusion ii follows

(C) Either i or ii follows

(D) Neither i nor ii follows and

(E) Both i and ii follow.

59 U 1, Toh e 3R 96 916 | 3R i G TReifnd &t e g g 81 s A & S T Qa1 o 9 A gY G Y & et R R
& ofR e &< for 37 @ ot &1 Fsened aper & & 7€ g1 o a9 © WR dTfchen ®U ¥ SIER0T el &1

P
TR U IR & G AT

sy
i) ShfAeT HTeTT T AT 1T 3T IUGR UHE ST AT I fohelt & ZRT SUBR U U=ig g
ii) et ThI-IRT AT ST AT

fr=fafed faeeal & @ Sug feed g4
(A) et freeme | STEROT SheaT &

(B) haet fehY i SIERUT e &

(C) ar at frseRe i AT i STERUT el §
(D) 7 & frenef i SR 7 ii SRV el §
(E) a1 forsmed i ofR i STERor e &
O

©) O

C
C
B) O B
B
E (Chosen option)
E

(D) O A (Correct Answer)
A

Question No.40 Marks: 2.5
Bookmark
Select the appropriate set of sequence of mathematical operators to replace all * sign in the following equation & hence to balance
it.
84*7*8*20 ! !
frfafed fieor & weft * &t ofoenfid e dur 38 dgfoa w3 forg Tt YeRe! & SshA & Iuh T &l 99+ Syl

84*7*8*20
(W) O x+=

X+ =

(8) O x=

X+

(C) O =+ =(Correct Answer) (Chosen option)
++=

(D) O -x=

-X =
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MENTAL APTITUDE - INTELLIGENCE -TEST OF REASONING - MENTAL APTITUDE - INTELLIGENCE -TEST OF REASONING

Question No.1 Marks: 2.5

Bookmark
Read the following statements and answer the following question.

A@B means A is the husband of B
A#B means A is the wife of B
A$B means A is the son of B
A%B means A is the daughter of B

In the equation P%Q@R%S, How is S related to P, if S is a male?

HY! i eATYED U 3R 7 Y weit r 7R

A@B @3 g A Barufa g
A#B w1 If &, A BRI Uit &
ASBaTa3nfg A BarTderg
A%B T 31f g, A BRIt &

FHIERT P%Q@R%S #, & S qw 8, A S &1 P & o1 aie 82
(A) O Grandfather (Correct Answer) (Chosen option)
DELILH

(B) O Father-in-law
AP

(C) O Granduncle
PEECK]

(D) O Father
fOar

Question No.2 Marks: 2.5
Bookmark
Which committee was set by every organization to redress sexual harassment complaints filed by women employees under
(Prevention, Prohibition and Redressal) Act, 2013?
afgen wHRal gry, (Jepum, Avey ofik Raro) sifdffgw, 2013 & dgd arR A9 It 6 Rt & Raro & g vde TreT grr faed
fafa a1 e fomar ST 82

(A) O District Complaints Committee (Chosen option)
St fRrepraa wfafa

(B) O Women'’s Cell
AT TS

(C) O Internal Complaints Committee (Correct Answer)
i e wfafa

(D) O Local Complaints Committee

T g afafa

Question No.3 Marks: 2.5

Bookmark
In this question, a passage is given followed by a statement. Read the passage carefully and judge the statement based on the
given passage.

Over three lakh birds of different species have arrived in Kashmir valley, according to wildlife warden wetlands of Kashmir, Rouf
Zargar. Usually every year, approximately 9 lakh birds migrate to the valley from different cold habitats of the world. Therefore, the
valley witnesses new species of birds every year. Birds can go any place depending upon the leading flock. Kashmir is comparatively
less cold than their own natural habitat which makes birds to start migrating to the valley in September every year.

The birds can help in increasing tourism in the valley. Shikara owner Bashir Ahmad said, "Since tourism in valley is not gaining its
pace in valley after 2016 turmoil, these migratory birds can attract tourist from across the globe, if tourism department can project
them in planned way, and advertise at big level, definitely it will help to boost tourism in valley"

Statement:
Birds migrate to Kashmir valley as it is colder compared to their natural habitat.

Choose the appropriate one from the following options

A -The statement is definitely true

B -The statement is probably true

C -The statement is cannot be determined

D -The statement is definitely false

39 U #, Yeh YA & d1€ Qeh TTeXieT far mar @1 rerier okt e @ ufey oiik Ry 1w werier & STUR UR U T 3T HifSig)

TR STEH & TSl arS At SR F TR, fAfv= menfadt & 9 ara @ sifdres veft sreefiR a1él & o 9oh 81 SR W 8 919, T &
fafera fiaer Faret & @menT 9 ora veft ardl 7 Tt o €1 S9ferg, Tél | X ATet ufei il 18 TSt Ut STt 8 | STof g3 o SUR UR ueft fonedt
ff R R 77 Tehd &1 hHR Sk W S UTehfcieh STaTH &l JoT # STU&NTchd hA 63T ¢ ford hrur ueft §R OTe Rider # °1él # yard &1 &
I E

geft a1é) § wied Sg | Aeg e Aohd ¢ | Rt Arferds 92fiR srgwg A e, "dfh 2016 FY UG-G & I1G €1 § Wied Td A6l Uhg @1 6, T
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yareft ueft gfar R & udfeh! wt eRftd aR Tohd 8, IR Wies fmT I8 disTeRg adich ¥ g2rfdT 8, ok 92 TR R A= & wahen &, at Ffga
®Y  Ig °1él # wied i dgrar &7 | Aeg

YU
geft AR =Tél H UaTe Rd § ifch I Sch UTepfcieh SITaTe ahl gl H 38T 81

fafofed faeedt & § Iug<h T &l 9o+ HIfSrg
A-wya Rfga s o ot @

B- &2 Uad: U8l §

C- s frafRa =18l forar S werdT &

D-syH Affa Tud Tea 8

(A) O D (Correct Answer) (Chosen option)

®) O
©O

(D) O

OO0 WwWw >»>» O

Question No.4 Marks: 2.5

Bookmark
Pointing to a man, a woman said, “He is a brother of my only sister's mother ". How is the man related to the woman?

Qe STGHT chl SR Tdhd &l §Y, b Al = ahgl, "ag, AR Seheidll Sg+T ehl AT ol TS 8" 39 STTGHT ol 39 Afge & T Hafy 872

(A) O Father
fOar

(B) O Son
kel

©) O Uncle (Correct Answer) (Chosen option)
3chel

(D) O Aunt
i

Question No.5 Marks: 2.5
Bookmark
In a certain code language, if GUIDE is coded as YKMIH, then how is RAISE coded in that language?
o fAf9a e wror &, afe GUIDE @t YKMIH & &9 | Ghedeg fohar Sirar 8, aY 59 9T # RAISE ht Sl hesig fohar Saam?
(A) O VEMWI
VEMWI

(B) O KYOGX
KYOGX

(C) O EVMIW (Correct Answer) (Chosen option)
EVMIW

(D) O IZRHV
IZRHV

Question No.6 Marks: 2.5
Bookmark
Find the next number in the series.
5,4, Q, 26,105,?
oft § apTel} TR 71d HifSig|
5,4,9,26,105,?
A) O 523
523
(B) O 524 (Correct Answer) (Chosen option)
524
(€) O 525
525
(D) O 522
522

Question No.7 Marks: 2.5

Bookmark
In a certain code language, if ACTOR is coded as 13201518, then how is DANCE coded in that language?
Ueh TSy e wrer 7, afs ACTOR @&t 13201518 & & H Fedg fohar ST &, af 39 o1 § DANCE &t 6 Gheeeg fohar Sigm?
(A) O 412425
412425

(B) O 412435
412435

O
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©) 411435 (Correct Answer) (Chosen option)
411435

(D) O 411425
411425

Question No.8 Marks: 2.5

Bookmark
Which one of the following alternatives will perfectly complete the given figure?

&

frfafed faeneal & 8 @ o1 fadhed § 718 Snepfa ot IvwaT & g1 shem?

&

4
4

B) O

(Correct Answer) (Chosen option)
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(D) O

Question No.9 Marks: 2.5

Bookmark
If the last ten letters of the English alphabet series is reversed, which of the following will be the third to the right of the twelfth letter
from the left end?

Tfg ST aufdTern & Sifam a9 s1eRt & ParfAd fhaT SITaT 8, dt Ffefad & 910 B8R @ IREd 38R & aT¢ JIERT S1&R i I gIm?
O

N
N
P
P
©c Oz
Z
O (Correct Answer) (Chosen option)
0o

Question No.10 Marks: 2.5

Bookmark
Find the next number in the series.
46,127,202,271,334,?
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goft § arTel) T 71a HifSigl

46,127,202,271,334,?

(A) O 391 (Correct Answer) (Chosen option)
391

(B) O 381
381
(©) O 401
401

() O 371
371

Question No.11 Marks: 2.5

Bookmark

Replace the question mark with an option that follows the same logic applied in the first pair.
Lion : Cub :: Horse : ??
gsifag i 39 e & ufawnfid HIFIg St gum g 8 AN deh 61 SgERvT &dl 6
Lion: Cub :: Horse : ??
(A) O Puppy

Puppy
(B) O Lamb

Lamb
(C) O Kitten

Kitten

(D) O Foal (Correct Answer) (Chosen option)
Foal

Question No.12 Marks: 2.5
Bookmark
A stands in the 45th position from the front of the queue and there are 3 persons between A and B . B stands after A. If the first 10
persons are removed from the queue then what is the position of B from the front of the queue?
A, UfF & 3RY § 45 § H R W1 § 3R A 3R B & offwr 3 =afws §1 B, A & a1 @eT 81 I ufvh @, uew 10 aaf<hal ot gt feam mar g ot ifs &
3RY T B & T T 8?2

(A) O 39 (Correct Answer) (Chosen option)
39
(B) O 43
43
©) O 37
37
(D) O 51
51

Question No.13 Marks: 2.5

Bookmark
Which one of the following images numbered as (1), (2), (3), (4) will be the next image for the given series?

(Correct Answer) (Chosen option)

G)
O O O 0-F
WW NN AA 2

Question No.14 Marks: 2.5
Bookmark
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A is the mother of C and grandmother of E whose father is B. D is married to E whose mother is C. How is B related to D?
A, C I AT § SfR E ot Fswex & fSah firar B €1 D o1 faame E & g & forerehl Af C 81 B &1 D & o1 999 872
(A) O Father-in-law (Correct Answer) (Chosen option)
xR
(B) O Mother-in-law
g

(C) O Uncle
3jchel

(D) O Father
fOar

GET IT ON

Google Play

Question No.15

Replace the question mark with an option that follows the same logic applied in the first pair.

28:5::39: 7
g g & 39 ferey & a1y Iael St Ugel SIS A AN dJeh T STgERYT hedl 6

28:5::39: ?
A O

B) O
) O

(D) O

(Correct Answer) (Chosen option)

OO OO0 OO NN

Marks: 2.5
Bookmark

Question No.16

In the series given below, how many pairs of successive numbers have a difference of 3 each?
574932591743572986
A2 & 1 Soft F, chmmra deemstt & fhan gl & @ udtes & 9 T oA 3 87
574932591743572986
(A) O two

a

(B) O three (Correct Answer) (Chosen option)
CiE|

(€) O five
ur
(D) O six
:

Marks: 2.5
Bookmark

Question No.17

At the Central Government level, a Working Group on Police by the Administrative Reforms Commission was set up in the year

%W%wmuaﬂqﬁzﬁgﬁmmgﬁmwmwmaﬁwﬁ H s ot
(A) O 1966 (Correct Answer)
1966
(B) O 1970
1970
(C) O 1960 (Chosen option)
1960
(D) O 1955
1955

Marks: 2.5
Bookmark

Question No.18

In this question, relationship between different elements is shown in the statements. These statements are followed by two
conclusions:

Statement:
C=0>U=2N;Y>R=T>N

Conclusions:
)U>R
iT<Y

Choose the appropriate one from the following options
(A) Only conclusion i follows
(B) Only conclusion ii follows

Marks: 2.5
Bookmark
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(C) Either i or ii follows

(D) Neither i nor ii follows

(E) Both i and ii follow

59 uH #, faf s aat & dia & ddu ot wua J Z2afar ma @1 39 wuF & a1 & A Ru g §:

<hY-:
C=0>U=N;Y>R=T>N

fArsepe:

HU>R

iHT<Y

ffafed el 9 @ Iugeh e o1 = HifSig
(A) haet FshY | SITEROT hedl &

(B) haeT freen i STEROT shedl &

(C) i am t il STTEROT el &

(D) AT i SR A g i SITTROT el &

(E) i ofRii G SERUT A €

(A) O B (Correct Answer) (Chosen option)

B
B) O D
D
(C)O A
A
(D)O C
C
Question No.19 Marks: 2.5
Bookmark
All persons in a row are facing North, X is 6th to the right of F who is at the extreme left. X has 3 persons on the right. What is the
total number of persons in the row? } ;
Ueh Ufh H 9oft cafh SR AT SR Sifv@ €, X, FF I € 6 U IR & S a1¢ SR W g1 X F a8 3R 3 afth &1 ik & aafhal & et T
Rt 87
A)O 6
6
(B) O 10 (Correct Answer) (Chosen option)
10
Cc) O 4
4
(D) O 8
8
Question No.20 Marks: 2.5
Bookmark

A dice is numbered from 1 to 6. Which number is opposite to 1?

: |||||||||||||\
4
A

T UIT 1 & 6 deh G¥Aifehd g1 i Tt I 1 & fauda 2

PP 7

A O 2

.
.

.
.

B O 6

Cc) O 4
4
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(D) O 5 (Correct Answer) (Chosen option)
5

Question No.21 Marks: 2.5

Bookmark
The first Law Commission of Independent India was formed in the year
A R T Ugel fafdy ST ay H nifsa forar mar

(A) O 1945 (Chosen option)
1945

(B) O 1985
1985

(©) O 2005
2005

(D) O 1955 (Correct Answer)
1955

Question No.22 Marks: 2.5

Bookmark
How many squares are there in the given figure?

& 7 STpfer e i 2

A) O 21
21
(B) O 18
18
(C) O 24 (Correct Answer) (Chosen option)
24
(D) O 20
20
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Question No.23

GET IT ON
Google Play

Mark:
2.5

Bookmark

E

R

46

Find the odd image out in the given series.

(1)

& 71 sjzgel | orEd B3 71 HfSrg

F

S

46

()

56

(1)

(3)

28

()

56

(4)

3)

28

(4)

A) O
B) O
©) O
D) O

(Correct Answer) (Chosen option)

AE NN WOW ==

Marks: 2.5
Bookmark

Question No.24

Find the missing term in the series.
600, 7,300,100, 25, 5
2ol & g U< 71 HISg
600, 7,300, 100, 25, 5
(A) O 500
500
(8) O 400
400
(C) O 600 (Correct Answer) (Chosen option)
600
(D) O 200
200

Marks: 2.5
Bookmark

Question No.25

Which of the following numbers in the Venn Diagram represents 'businessmen who are only authors'?
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A o # FefafEa dweredl & & o €t T 37 @Rl &t sufdt § S shae aae ot §2

A)O 3

B) O 2 (Correct Answer) (Chosen option)
© O
) O

A OO N

Question No.26 Marks: 2.5

Bookmark
Which of the following Acts was enacted to prohibit sex selection and female foeticide in India?

IR B folT-aa7 3R &= Yur-gan il ufaefaa s & forg Feafefea & @ si-an sifdfaas sifafaafaa foar mar o

(A) O Indecent Representation of Women Act, 1986
Afgen sschier nfaffde srfafam, 1986

(B) O Pre-Conception and Pre-Natal Diagnostic Techniques Act, 1994 (Correct Answer) (Chosen option)
THYRYI-gd 3R uHa-gd e desia sifafaas, 1994

(C) O The Protection of Children from Sexual Offences Act, 2012
iR sruRTer @ dTeTen! o TReTuT SifAfATE, 2012

(D) O The Juvenile Justice (Care and Protection of Children) Act, 2015
foRsMR =T (STeten! i Swv ik TReron) sifafaw, 2015

Question No.27 Marks: 2.5

Bookmark
If all the vowels are removed in the word SIMULTANEOUSNESS, then the letters of the word are arranged alphabetically, which letter
will be seventh from the right?

g 1&g SIMULTANEOUSNESS & §+ff @i @t ger faam 1mg, fihr 2rea & 1 ol quifend & srafed forar S, ot 318 § 91dat sfer si-m gimm?
AOT
T
B) O L
L
(C) O S (Chosen option)
S

(D) O N (Correct Answer)
N

Question No.28 Marks: 2.5

Bookmark

Four of the following five are alike in a certain way and so form a group. Which is the one that does not belong to that group?
Guitar, Sitar, Flute, Table, Violin ]
fr=fafEd v 5 § TR ge Pffa w0 @ gam & ord: Te 9g 9913 €1 379 O o 91 39 9g § T8 &7
Guitar, Sitar, Flute, Table, Violin
(A) O sitar

Sitar
(B) O Violin

Violin
(€) O Guitar

Guitar
(D) O Table (Correct Answer) (Chosen option)

Table

Question No.29 Marks: 2.5
Bookmark
If A=252,B=32,C=9,D=5,E =92, then
A+CxD-B+E=?
gfe A=252,B=32,C=9,D=5E=92qdt
A+-CxD-B+E=?
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(A) O 200 (Correct Answer) (Chosen option)
200
(8) O 150
150
(c) O 210
210
(D) © 170
170
Question No.30 Marks: 2.5
Bookmark
As per 2011 census of India, the population of Parsis in India is
IR T 20711 I FHTUMT & SR, MR H URIAT &Y STeem gl
(A) O 56264
56264
(B) O 59264
59264
(C) O 57264 (Correct Answer)
57264
(D) O 58264 (Chosen option)
58264
Question No.31 Marks: 2.5
Bookmark
If the second half of the word CONSCIENCE is reversed, which of the following will be the third to the right of the sixth letter from the
left end?
g g CONSCIENCE 3 &R 311e T ot SHhid fohan 1rar &, af i # @ 9 8k § 83 91gR & a1y dieRT 9feR T ghm?
(A) O E(Correct Answer) (Chosen option)
E
B)O s
S
(C)O N
N
(D) O 1
|
Question No.32 Marks: 2.5
Bookmark
A box containing the denominations of fifty paise coins, two rupee coins and ten rupee coins amount to Rs.1875. There are equal
number of coins in all denominations. Find the total number of ten rupee coins in the box. : : . ]
o S H U=y o9 o e, <t 3ud & ek ofk 5u 3ud & e €, fSrmeht hima 1875 3ud &1 9+t gegantt & gwr= e & g &) afag
3T 39 o eh! T ot W&AT F1d S|
(A) O 140
140
(B) O 150 (Correct Answer) (Chosen option)
150
() © 180
180
() O 170
170
Question No.33 Marks: 2.5
Bookmark
In police system, FIR means
gferd yorrelt 5, FIR &1 guf ¥ &1 87
(A) O First Information report (Correct Answer) (Chosen option)
First information report (& s RUlE)
(B) O Formal Identification report
Formal Identification report (thfHe smgefefthcher Rutd)
(C) O First Indian region
First Indian region (& gfea= dsm)
(D) O First Investigative report
First investigative report (& gTafefea Ruié)
Question No.34 Marks: 2.5
Bookmark
Find the next number in the series.
3,7,22,45,116,7?
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Soft & snreft e wra Rifsig|

3,7,22,45,116,7?

(A) O 147
147

(B) O 152 (Chosen option)
152

(C) O 163 (Correct Answer)
163

() O 158
158

Question No.35 Marks: 2.5

Bookmark
When did "Chauri Chaura incident" took place?
"FR-ART i el g3 AUT?
(A) O 1922 (Correct Answer) (Chosen option)
1922

B) O 1991
1991

(©) O 2000
2000

(D) O 1947
1947

Question No.36 Marks: 2.5
Bookmark
Read the information carefully and answer the following question.

A+B means A is the Brother of B
A-B means A is the Sister of B
A*B means A is the mother of B
A/B means A is the father of B

In the given expression P/Q-R-S, how is P related to S?

SR @bt e & ufey ofik fAmfead user o1 3R Sl

A+Ba A A BRI 9SS
A-BaT3rf A BRI agT8
A*BaTIf A BHATE
A/BaTAF A Barfuarg

few 71q =it P/Q-R-S &, P & S & o1 Geil g2

(A) O Son
kel
(B) O Daughter

(C) O Mother
ar

(D) O Father (Correct Answer) (Chosen option)
e

Question No.37 Marks: 2.5

Bookmark
Two persons A and B, stand at the same point. A walks 11km East, takes a right turn and walks 6km and turns left and walks 2km. B
walks 3km towards West; turns right and walks 7km; turns right again and walks 16km. How far is A from B?
S eafh, A 3R B, T g @S 81 A, 11 km g &t 3R I 8, &4 G3aT1 & 3R 6 km Ierar & 3R 91§ 7T & a1 2 km Ierar &1 B, 3 km
gf# & 3R <IeTar §; &4 g3a1 & 3R 7 km It §; foR @ ¢ ggar g 3R 16 km =i 81 A, B & frai @ 8?
(A) O 12km
12km

(B) O 10km
10km

(C) O 13km (Correct Answer) (Chosen option)
13km

(D) O 15km
15km

Question No.38 Marks: 2.5

Bookmark
A man walks 12km towards West; takes a right turn and walks 5km. He then walks 5km towards the starting point and reached the
destination. How far is he from the starting position?
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Qe afth 12 km 9fE &t SiR Teren §; 38 g8a1 & 8k 5 km Terat &1 fthR a8 5 km SR foig & 8k =retar § ofk Tiaed @H R uga ST 81 98
SRfA foig @ fRat g e 82
(A) O 13km
13km
B) O 10km
10km

(€C) O 8km (Correct Answer) (Chosen option)
8km

D) O 12km
12km

Question No.39 Marks: 2.5

Bookmark
Which of the following numbers in the Venn Diagram represents only ‘'married and graduated'?

I IRE A FfIfEd Tarsii # 9 hi- i T chde [aaTied SR TTddh AR ol &Rt 87

A)O 5
5

B)O 6
6

(C) O 7 (Correct Answer) (Chosen option)
7

D) O 8
8

Question No.40 Marks: 2.5

Bookmark
Choose the alternative which is an odd word/number/letter pair out of the given alternatives.

ag freed 9T Sit Ry 71T fRiered! & @ ye ardrd <ree; / T / AeR g 81

(A) O Spoon
Spoon
(B) O Glass
Glass

(€) O Plate
Plate

(D) O Banana (Correct Answer) (Chosen option)
Banana
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